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A certain machine can perform 34 chemical analyses per day, but a lab
technician can perform only 7. Suppose a laboratory must make 110 anal-
yses tomorrow and it has only two machines. How many technicians will
be needed to complete the job?
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An appliance company makes coffee makers for which the variable cost per
unit is $12 and the fixed cost is $92, 000. What should the selling price be
for the company to earn a profit of $88,000 on 10, 000 units?

(a) 6

(b) 10
(@5

(d) 8

(e)

(a) $30
(b)  $300
(c)  $3000
(d) $ 7000
(e)  $ 5000
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3. A manufacturer has 4000 units of product z in stock and is now selling
it at $10 per unit. Next month the unit price will increase by $2. The
manufacturer wants the total revenue received from the sale of the 4000
units to be no less than $45,000. What is the maximum number of units
that can be sold this month?
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(a) 1500 t & . 7 i)

(b) 2500 j YeVenue 6'» T inendh = lo X

(C) 1000 e (v mex 6 le - 12 «-’006 "‘K)
(d) 2000

(e) 3000 Lo+ 1-(Yoor—x) 7 45020
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4. A company manufacturers water filters that cost $15 for labor and mate-
rial, plus $50,000 in fixed costs. If they sell the water filter for $20, at
least how many must be sold to make a profit?
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5. The slope of the line passing through the points (4,9) and (6, k) is 5. Find

k
(8) 19 b_’} =5 s
(b) -1 .
(c) -19 V-‘_Ci = to
(d) 9 WS- e
(e) 5 '

6. Find a general linear equation of the line that passes through the points
(4,—3) and (6,-7)

(a) 2r+y—-5=0 jj_i—é— - -2 (correct)
(b) 5z+2y=0 £-Y
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(d) z+2y=5 \a*?) K

(e) 2z+2y=-5 s R + &
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7. Suppose the variables ¢ and p are linearly related such that p = 3 when
q =20, and p = 5 when ¢ = 15. Find p when ¢ = 12.

(2¢,2) and (/5,5)

(a) $ 6.2 (correct)
(b) $32 (2, P)
(c) $8 &3 .
(d) 855 Skpe- 2 o s =
(e) $6
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8.  Suppose that consumers will demand 800 units of a product when the price
is $10 per unit, and $1000 units when the price is $8 per unit. Find the
demand equation for the product assuming that price p and quantity q are
linearly related.

(800/ 1s) (lwo/ g )
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(a) p = _mq + 18 (correct)
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9. The demand function for a manufacturer’s product is p = f (g) = 800—2g,
where p is the price (in dollars) per unit when ¢ units are demanded (per
week). Find the level of production that maximizes the manufacturer’s
total revenue. And what is maximum total revenue.

a)  production level = 200 and maximum total revenue = 80000  torreet

production level = 200 and maximum total revenue = 90000

)

c¢)  production level = 200 and maximum total revenue = 85000
) production level = 125 and maximum total revenue = 68750
)

production level = 175 and maximum total revenue = 78750
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10.  The solution of following system: Foo(2w) -2 (200)

3z — 4y = 18

2z + 5y = —11
i 18
B ATl = e

3 <z)<+Sz)) sl A5

(a) L= 2, =3 (correct)
(b) z=3 y=
() z=2,y=2 Ex -84 = 36
(e) z=-3, y=2 -, e i
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: 125 —6y="17 .
11.  Solution of the system { 2% + 9y = 20z + 3 is
2x-63 = % L
(a)  no solution 184 — 4 Y — U,») (Gl
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12.  The region indicated in the diagram is described by

U= 2ey w1l
=28 e i
y<2, z+y>1
y<2r,z+y<l1
Ui 20 e

en oThev Sole



Term 211, Math 105, Major Exam I Page 7 of 8 MASTER

13.

14.

One solution of the system
gt () wer=—=p == ‘@ e
3x+2y Hi== 5(& ).fzta =
isz =1 and y = 1. Another solution is 3~a £ S'a,- d —~{=0

Y03 s) -1 (54457

(a) »’v=2—5,y=—§ e
(b) x:é y:——g ( d“)< 'ﬂ el
25’ 3
(c) :c=1,5y=—1 \ﬂ;-—-g/g p ﬁ;’
(d) ng,y:—; RS
() z=0,y=0 hE ( /3)
. as
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Suppose the supply and demand equations for a manufacturer’s product

1
are p = mq + 6 and p = —gé-q + 14, respectively, where ¢ represents
number of units and p represents price per unit in dollars. If a tax of $1.00

per unit is imposed on the manufacturer, then new equilibrium quantity
and the new equilibrium price after imposing the tax is.

(a) new equilibrium quantity 140 and new equilibrium price is$11.20 (o

rect)

(b)  new equilibrium quantity 160 and new equilibrium price is $10.8
(c) new equilibrium quantity 140 and new equilibrium price is $10.8
(d) new equilibrium quantity 160 and new equilibrium price is $11.20

new equilibrium quantity 150 and new equilibrium price is $11.20
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15.  Reducing {
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